2. Draw what the manipulatives would look at 35 Explain what each of the numbers represents
this point in the long division algorithm. 4) 1429 in the manipulatives and the problem:
a. What is 47
~12 s
22
is 357
~920 b. What is 357
29
¢. What is 297
3. Draw what the manipulatives would look at 4 Explain what each of the numbers represents

this point in the long division algorithm.
&

6) 2729

in the manipulatives and the probiem:

a.Whatis6? ( 3@%‘5

—24
32 -
b.Whatis4? 4200 o aclo
3 fouf ‘
is 327
E{:FEIUUDWDWH 0. ¢. What is 327
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4. Draw what the manipulatives would look at 26 Explain what each of the numbers represents
this point in the long division algorithm. 3) 805 in the manipulatives and the problem:
ﬁ a. What is 37
20
ﬂ h. What is 26?
25

c. What is 257
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Multi-digit multiplication name:; class time:
1. Answer these questions as if you were explaining the process of multiplying with the standard algorithm and the

reasons why to a student. . 5 6 4
a. In the standard algorithm, we write a 0 place holder in the ones place of the second partial
x 3 8

product. Explain where that 0 comes from and what it does.

b. In the process of multiplying, we multiply the tens digit of 38 by the ones digit of 564: 3x 4 = 12
i.  What place value should the digit 2 go |nor ones)? Why should we write it there?

2Zbens x U= 12 teus

he canse

~ +uUs
tf - I?- G
20 < R—
i, Where should we write the digit 1 {above which place value}? Why should we write it there?
s aYoyve tiee tews p[&c.e.

Nex*- w-e,” cLo -I-Q,ws x fews ! 20 x éo :.lotu.wclr-écfs
2o

"‘um&mp — odd hpadreds 'ia%e'&buw _ ¥4
2. a. In the standard algorithm, we write a 0 place holder in the ones place of the second partial 3

arndurt  Evnlain whera that 0 camec from and what it does.
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